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Passage:

Wapa:— Sreforiad et ufdan i fadedarmNea: Sfadaad 3w faar forad |

TAaRRIY T-S_Io 3fciid o Sl it Sl a1s 3: AR gt aid |1 gRorefa 3 Fe@: Ther a1 $a: | aeayrt 9ga: gitsdr: STl IRt
SUATT: Uf0ST: eIy U fteday YRIG@ET GHIH Siad: | W JUlds! SR JaRINEl Hua- SRiq ¥ Seuad: | HeMivsd: 3 HFRagul a1
R 3fa Tdea | T8 TAINHAA IGART MReware qRiferd, < uReiiqad 9, sfa sifaq our Siierfawd @ v=ier addl

REE: ufd: T T vTe: 3 SR, FHR Siedn: ST oy o PRIGY | SIemfR S 98 Jale: Yaw: | Ud Sifcer: 3 A vaar] | e demTd
IR SN 7T - T I ARI: 2 3R | T T: TR BT A 3R RAHRT | Taha SHRERER SR SReRed R 3ft
I, BT SR™: B Har 3 IaTe T 'JrTfa’ I Xl AR d SRE: 34aq |

Q.No: 1 91 T: PURT SIfd 08T I ...ovvvenennens

A iRt
B il
C gRorsafy|

D Y|

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Wape:— SfeNfifed et ufda@n Mt fasereraire: e 3w e firad |

TR To-5_ier Sfcild el Pifer YAt i) 91¢ 3: URT Sl aitd 91 uRosf 3 Fe: Tl a1 $a: | AIguri dga: uitsdr: STl W]
SUHTTT: UfUSdT: SroMIadH Uh uisday YRII@ GHIH SHiddd: | W JUldp! SR JeRIEl Hoa SRiq ¥ Seiured: | Heivsd: 3 HFRsaul a1
FRefd 3 Tage | T AR AHART ARAwdre wRifo, © aiiiaad 9, 3 Fifad $31 Siiderafass JHmo wEim add |

REGE: Ui TF 7T UT: 3 SIS, AR ST SURET S o FRIQRI | SR Siedl 98 4ale: Yaw: | T Hiierers: 3y T raa | I genTd
PR UR] Y5 - T DY IFAR: ? 3 | Td : TRIRREAV Hredl IAeda 3 [y | TaHd FURITHIRI 3RM: SRegaRi ¥ sfa
e, TEgaed 3R™: B Sar 3 Teie gl ‘arTifda’ I Xl TaURT T SRE: 3Haq |

Q.No: 2 Uftsar: & UfUSaay YRREr U SHFiad—:?

A AR
B Toras|
C TR |
D TS|

Correct Ans : C

Subject : Sanskrit Bhasha 02
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Passage:

Tapa:— SreNfafad TRt ufdwn wami faserarsmeg: Sfaday 3w fuar forad|

TITERRIY He-5oe 3fdld el i YAt i) a1¢ 3: $URT osafd aftd 91 uRusfa 3fd Fga: uhal aa1 $a: | aqauri §ga: uftsdr: STl Wi |
SUET: UftsdT: Srefrad s T uftsday YRRIET GUI sfiiada: | W Jufds! SR JeRINal Soa SRi ¥ Semed: | Hefisd: s HFReuvr arg
PR 3 Tdea | T/ AAMNA IOHIRT ARAHdre TRifordT, @ aRoliaad 9, 3 Sifaq F31 Siidigras gam FEid add|

REGE: Ufa: T 7T UTe: 31 SRR, $HRY S SURET &g o FRIGI | SR SIe I8 dle: Yaa: | T Sifcrer: S =1 W | Asiem= JarTd
HIfCGN PURT AT - KT B AIFAAS: ? 3 | T F: TRIRREU DA Aqqar] s AYd | (a0d PARIHTH 3R™: sRegerRedt f&fkr sfa
Telieh, AU 3R™: B ST S IAe- adl 'JrTifaa’ S Sl JqaRT 9 SRBY: 3Haq |

Q.No: 3 T HFIAFY IAGHGART RIS GRIfoTdT | HRI?

A AHTeE|
B BEb ezl
C e

D e

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

- SrNferiRact el ufdan usmi fasmerereave: Sfadar IR @ il

TTaRRE TR-5_1e 3fciid et it Gt i) 1S 3: AR it aid |1 uRorefd 3fd Fe@: thal a1 $a: | aeayrt 9ga: aftsdr: STl WRIfoar|
SUETT: ftedT: oIy U ufteday YRRAET GUIH siida=: | W Jufas! SR JemiRal S SR ¥ SeiuTad: | Hefsd: 3 HFReuur g
SRS 3fa Taga | T AR IGGAR RaYdle uRifvdr, o aRuiidadt =, sfa sifq w3t sifverfasd woe vafd add)

RAE™: Ufd: T 7T UT: 3 SR, HUR Siedn: SUNHT $g o FRIGY | SIemfR S U8 Jale: Uaa: | Td Sifeer: 3 A uraar | e damrd
PIfCE PART Y= - 3R B AMAY: ? 3id | Td T TERREIV HreAT IFedar] 3id A4 | Taid SHREHI HR™: SRgerei ol gia
NP, NOGaR SR™YE: B Sl 3 X qul aRIa’ 3@ I I T SHRT: ST |

Q.No: 4 ISR AR DI HHRI ST - 37 B: TPR:?

A <l
B el
C el
D g

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

e feNfaifed Tt ufda@n uymt faseaersreg: ey 3w e firad |

AR AGSRIoRI 37clid ol Bifa Tt SRfiq 916 I: $HRY s a8d a1 uRkorsfa 3 Feg: Teer a1 $a: | aeaqrl 9ga: uftsan: S wRifsary|
ST ST SRS T Usady YRRIEr GU Hiqa-<: | T JUAE! SIS Je=IRal Had- SRiq ¥ SeUad: | Hgmitsd: o THedu da
FRefd 3 TagE | T AN INHERT ARAEare i, § aikelidad 9, 3 w1 S Siiderafas gHmor wEian addl
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RATY: Ufd: T 7O Te: 3 SR, FUR Siedn: SUNHT &g o PRSI | SIeAfR S 48 Jale: Uaa: | Td Siicer: 3 AW uraar | e aammd
PR FART Y - IR H TFER: ? 3 | T q: TRV Hre+ Ieaar 3 fAad | Taid FARIRET 3R™: SReqeRw &R sfa
TclIoh, TEGTRI SR™: B ST 3 Kb T ‘JRTda’ S Xl TARRT F RO U |

Q.No: 5 HUGAR 3R™: & Relidh Hafa?

A grTdffag sfal
B B P I
C SRR |

D SR Y 3
Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tara:— AN TRt ufda@n uyEl s e asea: Sfans W e el

IR Ho-5_Io 3fcild el pifere] YAt e 9IS I: HRT sl aid 91 uRosfd 3fd Fgg: Thal 781 $a: | dIGH/i §ga: Uvedl: STl IR |
SO fisar: SeUsH T Utsady YRR U 3-ida-: | W JUfdst SR qeRIRal Haa- SRl ¥ Soad: | Hgmitsd: 3 BHedu ae
FHRE 3 TIET | T TAIEA INGAR] Reware gRiferd, < aReiiaad 9, iy S $31 Sifiteraias @ J=iemT addl

RAGE: Ul T3 71 UT: 3 SR, $UR S SURAT &g o FRIQRI | Sy SIe 8 Adle: Taa: | T HIcrert: SR T War | It anTd
HICTGR FHART YwSq - KT B aaRs: ? 3 | T T TR HIANH IRIadF 3 [ayed | Taha SaRT™aw R™Y: sregaesi & 3fa
i, Fagaed 3RTH: S Sar 3 Taie gl ‘Jrnifaa’ S el AT I SRI: 3(4aq |

Q.No: 6 GaRINaH - 3 P fauid:?

A T
B el
C o
D gffi

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tapa:— SreNfaiad ezt ufda@n usmi fas earararea: Sfaaaay Sw R forad |

HIGRR He-soid 3Hdid ekl it G i) a1e a: $HRT Ssafd aid 91 uRorsafd sfd Feg: Tohar aa1 $d: | dIgqyri sgd: givsdr: SRTdT: RISy |
SOHIGT: TfoS: SeUTerhH Ueh Uftsaay yRIR@ET U Siaa: | W SUfapl SIi J&IRal Had Sfiq ¥ Souee: | Herafted: st HRedv arg
FHRST 3fa AT | T AR IHAR RAYars Wifordr, © aieiidadt =, sfa siftq 31 sifvemfayd Sam wEfid addl

RAEE: ufd: T 7 UT: 3 SR, $UR Siedn: SURHT &g d RIS | Slamfe) S 98 Jalg: Uqa: | Td Sifcrer: i A ureaar | et gammd
PTG AR YD - T S AMER: ? 3 | Td §: TR0 ST IR 3 [Ty | Tohd SARIRGR RM: rgavsi R sfa
A, TG SR™: B ST S Kb adl ‘JRTa’ S Xl AR T SROY: 3Haq |

Q.No: 7 3feirereh: &: SHHI?

A yaqufa:|
B Hiferar: |
C Hi:
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D HRES: |
Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Haba:— NIRRT =t ufdan uym i eaareavea: Sfdars 3w e feal

TRTARRNY TR-S_1ey 3fcild Fradt Sifer Gt ol a1 3: $ART Ssafal afta 91 o 3 Fea: Tl aa1 $a: | aeayrl sga: uftsdr: STl WRIfek|
ST UfUST: SeTuIdieH T Ufisday YRIAET SHIH SiHIdad: | T JUfdpl SIRIq el dadr SR ¥ S(euTe®: | 7eaitsd: 3 Hequ arg
FHREM 3fd TIeT | T AR INGART Reare wRiferd, < aRkeiiaad 9, iy Sifaq $31 Siiceriaw THe J=ir addl

RATE: Ufd: T 741 UIe: 3 SR, $HR Siedn: SUNHT &g o FRIGIA | Slam-) SIe 98 JalG: Jqa: | Td DI S A WIar | S Tammd
Pl AR Y5 - R DIV IFARG: ? 3 | Td G: TRIRREAV Hredli= a3 [yad | Taid SARYTHIR 3RM: SRgoRdi fafkr 3fd
e, Tagaed 3RTH: S Sar 3 Teie aur ‘arnifaa’ S Xl TaURT 9 SRIM: 34aq |

Q.No: 8 df - 3@dd ue e

A g
B ofck:|
C o
D T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 9 IIFIHRIY IGTERYI AR -

A TRy
B HUSHI:
c difggan
D R

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q-No: 10 "aieii il Q- ol

A ad
B :
C e
D (SGlf

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 11 sif<yauiiq gdaufer &1 uxm et

A fergam
B fedmm
C SEHEE
D JUUTHT

Correct Ans : D

Subject : Sanskrit Bhasha 02
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Q.No: 12 [y 3T F: TRE: ?

A TG

B SRR
C YR

D TR

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 13 dIE PR AR -

A o ol el

B o8 g ey
C CuRS G
D 31af YXaeh UsTa:

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 14 '&: Il 3 I Al 20 FHAaT 37 F1fa’ fbarar: Squd b2

A q:

B CE]
c =
D CIGET

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 15 3refe =i T1g Prexi sfc: Haffemeuu Feme Siwd-

A AFueTq
B AT Yo
c TERUSTH
D : U

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 16 e wemat &0 Tdar WHAHTR: Td JaT SR | U6, Tag, e T WGaumio Fagiidl w:

A TagfafeHT ureafa

B Fryor AT greafa

c qrafaarg fafeT areata

D RigFe qER: T4 deS: it

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 17 FEfifasRriy T HRUi o 3 & Qe gaaar TR el aeaguiyfieT Ry »
A o Wi=RR fgurar gafa

B Qe Qe 3for ey
c %< T3 TraamEr exHeH: i
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D

A JAAPIRICIIA Higal, SIS o 4 AN SUYNE DGl PRUIY:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 18 &M} G -UAHTITC-TRA: SHTad: THAT: Sifiod: Hafd ~

A
B
C
D

RigmgRT srgiaATER: Re-Fd e TRy
a: sifafvaa: 993: ved afa

AT: WeHTE Uehfed |

AR: SETa RIS-GRe Ted wid

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 19 g Faramamar: faznii: T siad (envelop) Falg M=l qaifa | faemdf e urer S | waTdwamany dfay: Tfafaf: were siwfd -

A
B
C
D

[ICREARNICEIR]
TN IRICH T
YU ABTE

At FeHTeBaraT: e

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 20 YGarATHGHATICR IETERUHIKT?

A
B
C
D

T B
gl

o et
o feraf

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 21 BT HUM: 3 URT Ui Yl fag Fal Pfdwad, aur geraga:

A
B
C
D

BREUTGHIIATYTH
feonoft derifRiaeH
HIATIATGE RIaY 7
BEHSHIHBAEYTH

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 22 3RETR: WE: IA-FAT IR: 4 yaf=y| wiT-seern g€ wrulid &: ai=: Sum: 2

A
B
C
D

fafrfafadivr gRT ey UIT T SEIRAE S/EwRul ey
gdRuiRa ursHee o ufagl: =

TEIHITT TS UToaeg: DTS U6Tq

DA HRATH-&7aT fIeTariq s m-arrm:suafs:

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 23 Renffai Flew=nemm Rrer:

A
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QAT TRIGRIGRUN TH 4
B B WIRRIg SMRIATIvghi URaq
c BEIU QN SURITEAH $aiq
D BE WS IV SN Fafq
Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

g~ SieNfarad Tent ufdan uym fomeararsave: Sfadans S e ol

spgat el Y JarayRiar|
ST Ufdpa= WRui 7 JHRR |

Q.No: 24 spyany TS THR: add ?
A faftfrg woR:, e

B e THR: THIGH

C g TPR: TAYeq

D e TPR:, AUl

Correct Ans : D

Subject : Sanskrit Bhasha 02

Passage:

Haba:— SN Tent ufdwan uyH famearas aeea: Sfadans S fuar ol

STt SETaRd Yl TarasRiaT|
S Ufdgan- W 1 JHARR |

Q.No: 25 g1 ug 1g: Taay fope sifa?

A 4 UIg: FAqg Uy
B Y HUIg: &l YIY:

C 8 Tl UeaT:

D ot uTg:, T Td:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Toha:~ SieNfarad Ten<t ufdwan uyH fosearare ave: Sfadans S e ol

spat el Y JarayRiam|
S Ufdpa Wt 7 JHER |

Q.No: 26 TEBUR SIY: TRYT PIEIH TR 7 HiedH ?
A THT: Ufdge=
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B SHET: IFFEAT

C |iew:

D qfa:

Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Taba:— SN Tent ufdwan Wyl [admererd ave: Sfadars S i ol

STt YA Yl TaraRidT|
S UfdGa wRui = FHER |

Q.No: 27 '3FFa sad ygaa [AamueHd |

A ety
B ezt
C TR
D STIHE

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Tra:~ sienfarad Tl ufdan uyml faseararsava: Sfadans S fuar fredl

ot Y YT JaTayRid|
S UidGa WRui = JHER |

Q.No: 28 3fIdT: Ug Yered, fqufdd:, aasl &: ?

A T Vea:, T faufa: Thaeam)
B A Weg:, W faufekt: Tohaen
C ST X1eg:, T fyufda:, sgaee
D T Mo, feieftar faufd: sgae 1

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

e~ feNfared wenst ufdan wamt fasearaemreg: Sfaaaay 3w o foradl

STt SERTaRd Yl TarasRiaT|
S UfdGa Wi = FHER |

Q.No: 29 'dg ysfer wfRmm 52
A ?:ﬁ'z'f: Eﬁ:
B o7
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C gig: af:

D Juy R |

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hora:— SNfarac Tt ufdan nyHl fAmeaaEs aeea: Sfadars S e ol

st SETaNd Yl TaTaLRIaT|
S Ufdpan Wyl 7 JHER |

Q.No: 30 '@y uesR Iuwl: THRY &: ?

A 3[q Yo, T ABR:
B 3(d Yo, T TPR:
(= 3[d JYo, A TAPR:
D 3 Io, I TBR:

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 31 = & I yw Rrarn

A RO R §

B UIog-T5® UgHT &

c T-T G §

D faftrer el & SRa w1 @1 wHId Wi Riam g1

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 32 wgu Ten & Riere & R sowas § o a8

[quft I B YT BT e H WA PR
A
ft s Y yreSit BT A oY
B
C oot g B U & gHE | FaT I g 9|
D ol § NgHE T

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 33 HI¥ & ad 3R AP edis P oY B A Ugfy 9y 2
A T & SR fergarT

B 3ngrg F 3T @ it usl & SR gaam
c Uy ST
D IaRI B SO HAT

Correct Ans : C

Subject : Hindi Bhasha 01

TITC TT= =<7 === T TTor W—TATY TF
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10 YOoYX Yl T HA YMYIT X
Q.No: 34 ¥

A T 910 B U1 9T & {5 9 vyaras weal 9 uikfd € ar @

B e B I8 T BT AR e § 5 7= ¥ ure 3 e TeRiE & wHam |
C Hef-rd B ot g i B R

D T4 FA P Sf1Ed B P S 3

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 35 g @t Rigvr it wgard -

A G ERCECER K]

B SMYfE yomelt

C I ToTTedt

D T U 3R 7 & T yomedt

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 36 Treg HeR # 9fg & fore i & & watfde Sugsa #1872

A T 31 Rigor

B PR BT Rigor
C T fRieor

D B o1 R

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 37 FE # ¥ URa & 9duyn Sifienfia srexm fafY & Tan &1 oRY & gem?
A 1980

B 1920
C 1963
D 1941

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 38 i & ¥ gic ¥ o SR g2

A Tl Bt Qi b1 WHiHT

B Tad Ja arelt ufesar

o Fifdd aERITd IRadHI Bt FTEHRE

D T B YT 1 i, T Ta arelt WihaT Ud Jifed SAagRITd URadHl @t SIBR

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 39 FH # § IH-U TP 3 UIed-G&ad! 1 01 7

A Faq arfmar
B Faq FEIa
C T HHGSAl
D refear, ST Td wHes|

Correct Ans : D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Subject : Hindi Bhasha 01

Q.No: 40 THR® fawa a7 & AW oMy & H ?

A
B
C
D

R Sga
Had TUTETD TGt

Faa B
ECERULL

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 41 ST Fraedia HRa THT Fad TBT Wsdl BT & TN FH 71 ITeR0T & o g 'Y 3N | I8 IR0 ©

A
B
C
D

ARG BT
YT fAHR &1
AR Aelt el HIST B

YTIT-TAAT &1 & o1

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 42 T fafdy yged gielt 82

A
B
C
D

Fer e &
Hfaar gy 7
Tt fRigor &
Ry Rugror &

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 43 1 & ¥ Y a1 31 T Difore-

A
B

C
D

aroht B T B T §

JPT TERYT WU 33T §

I U@ Bl B A TS

FIR P fe~<dt T UG Hid A S 31

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 44 fEfiRd & I PH-I <7 1 31 Ak 3Ty 761 82

A
B
C
D

T qUT gt Wi i fpamadt & o P &

faenfit @Y SfyPRom 3 quT S Wi @t fraelt @t SR IEER
faenfidt oY S @1 aif & Riere B W= T B

fAfia Yren & snarg aur ferarelt &1 &

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 45 IR & oFie Rieia TRad fPT T & S o &2

A
B
C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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D

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= R feT U TR B eaR 9 U AT O 9EY IR SaR ard [admed ST 9a $ifoe-

TGT H1 (0T 13 TN ot o1 Iu®! ey @it § Safs I& ged & oy axgd a1 Jar o o Wb | a¥geft ofR Jarshi &t a1 & dgA-9ed & IY-T1d GEI-Ua18
¥ oft 9g19 a1 gerd & I 7

e PaT H g B AN MY’ @ HERWIT dgdl 81 ‘Harwid” &1 3 s—awgei SR Jarsii & gea # | 39a! v ¥ el § b garepifa gga &
Ty Tt aEgstt SR Yarsh F1 g Jedr 3 g a¥ogah ok Jarell & I # 3 $9 39 UHR Tl § 6 I 0 YeI-WR 9¢ ol §| GERPHa a9 g @
e ffa Trg-ore I 96d € iR srfoqawa &Y uHifad oRa €1 sifard awqt ud Jart S @ verd, g ammd ol el o, I &R
fEesie, Feams o gerwifa ¥ waifte ywifad gidt €1

TEREI 3 ga o e 39 & axgalt ofik Jars &t oa A ok 39 & $0 IUR & 4 IO SRigad ¢ O AR T o1 I 4w § o & o
WBR S & P19 Jb1 I g1 IUR el 31 Foh 8 2ft 37 $a1 Tl & 9g 3R Wid & HH g9 | b1 I AR JUR AT &1 9d 3 F 31mara & 3rdien i
A gfg Ol @ O Se F S faRsi e ofSfa van 31 fadw & YR wardt 3o 3 oy YR H A9 € o S99 o ge-ufd § seied) it 81 ger-gfd A ofe
a9 ot Bt § waes Ffsea iy afhg AR & gikakid 81 Ik 31 SSRR: I S Rufid! & g deicies 4@ 18 kg AR S A sty
JUIHIT DI a%g SHyal i 50 B TN § al|

9 G5 31 gl ITH IeH! & HRUI 9¢ S 8 A AN BT aegal SR Jarell ot A gft FA & R vt ger-afX Y snavadsar gl §1 g U Rufq o
IdTe el Fgal il Idre & vgad Gt ged SN AFe-TreE, Weifiet ofe et & @ ool U § 0 &) @ e & g AR & @ S ) TR, oo
3R RNt ot B, faggd 3T HHi, IRaET SR SR Aog! B HHE & HROT 1} IdTe g1 9 Tl $Hb GRS IS T § g arel a¥gafi ik
Jarsll H HiT SHF SR gl HH Bl 81 T UHR GERBId §6<l 8

Q.No: 46 QW& TR F AR, "GIRWIa’ &7 7 37 § 2

A 3 Trae & axgelt ok Juel ¥ o gu-w'R A TS
B ¥ wrae & ageil ok Jarelt & Fa T-wR J FH
C ot oft TrgeTa o avgeil ofR Jarell & $a Teu-wR § T
D TGN BT AT IUEA F RIR ST

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

& R feT U T B UeaR U T AT O We IR SaR ard fadmed &1 9 Fife-

TGT BT SO I3 YT A8t 51 IudT ey Tt § Safs 3% ged § o/ axgd a1 Jard off o U | axgedt ok Jarehi @t A F dgA-Hed & I-T1 GEI-UaTe
7 +ff 5@ o1 Uerg g Wbl g

“Sfie g1 H 9gd HF Do M’ o GERwIfa gt 81 gl 31 orf f—avgsil ok Jarell & Uew H 9f 13U siftiury g8 e § fF gerwifa 96 &
T 9 axgait TR Yarel F1 Ied dedl ¢ g a¥ogshi ok Jarsfl & Iea H 9fa $© 39 TR Tt ¢ [ 9D $ol Yed-wR J¢ offidl 5| GERPIA ad il &
S R gHg-oa § Jed 964 © 3R srforaw & guiidd $d €1 e oy v Jant SR @ uerd, g amel ok deig i, | SR
fSedie, SleaRe onfe germifa & waffies gufad &l 81

eI 3 g0 o5 e 33 H axgall ok Jarsh ot oo Al ok 3 F $o IUE & §1Y IO SRgaH ¢ I PR T o ¥ 4w § o §
WER o & H51T DI I G&1 IR o<l g1 Foft &7 o o= Tt Tl & dg oI Wid & $H 8 R d$1 I IR IYR A1 81 916 <=1 F 3mard &1 e Aot
# ofs S & < I F o faexh ger eifvla o 31 fagw & yRdla warft st s aro wRd & Jord § dF SO ff ger-ufd & agadt o 81 gar-ufd # 9f$
a9+t Bt § v Ffse IRy afha IR & aikafia 1 I T SeRRE: I smuw fRufadl & fiw Secier 36 15 s AR ST A st
JUIGT D13 a%] YT TR 57 HRP WA 8§ ari|

& g5 o I ITfad Ued! & HRUT 96 A § af Al o axgsi STk Jarefi & 7 it S & fore gafd ga-uifky & saxaddr gl ol IReg Ut fRufa i
IATEA g Sgal Fifh Sae & vgad Tt ged I wd-Tne, Wit o ugd ¥ & guf TU § A7 @ I B F e AR F @ g 71 i, O
R Rt &t B, faggd &1 HH, IRagT SR TR Aoig! B HHt & RO o} IdTeH g1 96 UTall $Hd IRUTERaEY I T § g arel aegafi ok
Jaroff T aifE SR gif F1 Bt 1 U TSR GRRwifa doedt B

Q.No: 47 IuHdd TR & AR, &1 HT AH 6 ISKT off Jbell § ?
A e o1 & Fed H ST a¥g¢ a1 Yand ot o b
B g TGN Bt AT H g URY B

== =wr=an = T o = e =
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C V1Y YXYVT Y 1AL N6 IR R

D O 5T & Fad H ST avge a1 Qang =1 F o G|
Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

Ewn: 7 3T U TN S Ued) YR TN URAl & qad SR Sk aTd fadwed &1 99 Pifor-

TET HT (O HIE T 8 51 39HT ey doft § Safs I ded F o axgd a1 Jart off S 9| axgel ok Jarsh Bt A F deA-ueH & Y-T1 GEI-UdTe
# +ff 9g1a a1 gerd g uHhdl 3

"SfID el H Fgd HH Aol MY’ A GERGIA dgait o | "Farbiat’ o1 3 3—avgsfi SR areli & g # gfa | 391 ifium a8 761 § b Garwifd 9 &
o Gt ageit SR Qareil o1 g dear § g auogell 3R Jareh F U ¥ 3 59 39 PR Bidl § [F IUST $0 Teu-%R 9¢ Il ¢ | GERpia a9 gt §
S P Trg-aTe ¥ ge 964 § SR srforaw & uuifdd aRa €1 e gl ud Jant S @y verd, gy arh ok dcid oS, e SiR
feesie, Pe=e ofy e § vaffas yufaa i B

YB3 gd e el §x1 # axgalt ok Jarei &1 oo Al ok 3 & $d IUE & did IU- SRigad ¢ ofd AN W o1 & +4fid g o &
WIR o & H510 D1 T GF1 3uR o g1 F3oht &7 +ff o7 $a1 Tl & dg iR Wid & HH g R S$1 I IR IYR AT 81 519 = F omra &1 sden Fafa
# gfg S & < o A o=y Rt e orfla ovan 81 ey & wRdig varft e o ara yRa & Ao & o SO ot ger-ufd F sgad S 81 ger-ufd 7 o
aq ff St § wefer Ffepa air gieg wRr & uitafda g o 31 SeeRun: afe ey fRufadl & i Isicie 3@t 15 [fepg af o wifee sryar
JUHIG DI3 a% ST TR 5 TP T B an|

d o1 Bl g ST UCH! & HRUT 9¢ AR © ot Al B aegeil 3R Jarsfl &t 7 ¢f a7 & fore vl ge1-ufk &1 sraxaadr gidl ) ueg U fRufa &
I Te! Fgal i Ide B Tgad G+t 9o o AFg-SaTed, Weifie! o ted & @ 9ol ¥4 § 7 &1 IR &= & g IonR & @ 8 § 1 RN, don
R Tt @t B, fagga @1 FH, Tiaed SR $I Tug! 31 FH & SR Hf I T 9¢ Ul T URUIRGSY i T § g arelt aegeff ok
Jarsli B [T 3P SR il BH Il 81 TH USR YRBId Sl 5

Q.No: 48 W& TN & AR, FH 76 § 59 I 3 FH GRRwIfd BT SR T § 2

A T g1 ® ot

B Harsit @t =T A it
C gl @1 i & e
D RSN & e § ot

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

fAdwr: A 13U 7 TR B g U TN URAl & Yad ST SR dld el ol 9gd Difoe-

T BT SO IS TN et 51 I9dT ey ot § el 39% sed # o/ axgy a1 Jard off S T | agan SR Yars Bt AR ¥ FgA-ved & WY-91Y GEI-Ya%
# ot Sga a1 gerd g HehdT gl

"SR el § g HH Il MY’ dl GERBIG Sedt § | "GErEpidy 1 3 —awgen R Yareli & geg # aig | 391 3iftmmg a8 el § b gerepiid 5e7 &
g ot axgett ofR arsit &1 g dedl & g Fhogsit ok Jarst & 0w ¥ 3 38 39 ToR 2l € % SUd 0 Jo-%R 96 ofdl 3| GERWId a9 gl &
e A Tra-aTe & ged T6d § SR srforaw & yuiiad aRd g1 sifard vl ud Jand S @y verd, g ame ofR ddtg o, e SiR
feesie, e e gurepifa ¥ waifte waifad gidt g1

YERBifa 3 ga s e 33 & axgal ok Jarei @) oa A ok 3 & $d IUE & a1 ST SRigad ¢ o TR WY o 4 4% § o & o
IR I P BT 51 ¥ GF1 IR it ¢| Foit & of o7 o TAf & Tg 9k Wid & BF g IR SH! I AR IYR A 81 99 o1 H rard 31 e Fafa
# i Sl B Y Sea I ARl e oifSfa wvar 1 ey & R vardt s 3 oy YR H A9 € ol S99 o gen-ufd F seie’t gkt 31 gen-uf A ofe
a9 +ft Sl & wafes Ffse Ry ity IR & uRkafkid 1 Ikh 31 SSRRva: I s Rufadt & g decies 36 15 FfSsg IR &1 Afds sivar
JUUIHIT B a%g 34aT TRy BT By WA § A

e 5T P gl SWIFd Uedh! & BRI 96 Wk g o Al df aegelt iR Yarell @t A g A & R gafa ger-afy @t srawadar gt 71 ueeg W fRufa A
JdTe Tei Fgal ifs Iae & Tgad Ot ged 9 AFg-wured, Weifiet onft ed 3 @ 9ol ¥ 9 7 &1 9y SR & g IR & @ g §) TR, ool
3R TNt wt B, fagga @ T, Tiae iR $I TogR! &1 FH & SR Ut I T §¢ U1l $9% URUIMRASY 3if¥e Ti § g aredt axgal ok
Jarsfl Bt HiT SHF SR gl HH Bl 81 T USR GRRBId St 5

Q.No: 49 Iuad TRIY F SIUR, Y HYT B 94 HioiC-
A Siafie gor § ga oH o) MY df Gl sgat 3
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B QARITENC W10 VI WX QI A YUY 1R SIYITE Y20 @R AT 1R QST 97 PN O™IQ Y27 SIY O™™ vyl et

C gerepifa a9 gt § o9 P Ta-ora 8 9 9ga § iR srferawyr ot yuifad ava 7
D TS BT ST TN §1 39T A Aot § Tals SUP e F 3R ¥y 91 and ot o 9|
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

e A 3T U TRIRT S Uga 9@ TN WAl & Jad 3Rd Sk a1 [A@ed &1 T Bifeie-

TGT BT SO I3 TN 8t 51 ST any @it § STafs 3% ged & o axgy a1 Jard off o w1 axgelt ofR Aarsl &t apm & dgA-Hed & -I1d GEI-UaT8
# +ft 5g/@ a1 Yo & Tbar g

3R el H g HH Aol MY’ ol GERBITA Sgat 81 "ERBId’ Bl 3 g—avgef iR Jarsll & 4ed # gi | 3H1 I T8 76! b YIRBITd g &b
T ot agett ofR Jarsit o1 g Fean © Mg Fegsit ok Il & g ¥ 3 5 9 UER 2t € o SUdT 3 Je-WR 96 ol 3| GERWIA a9 gl §
S P Tg-aa ¥ Ie0 964 § SR srforawn &1 uuifaa $Ra €1 e Sy v Jant S @y vy, g arl ok de i, e SR
fEesie, Blewe onfe geraifa & gaifte gufaa & 31

TGN & gd ofs fost 5% | axgell $fR Jamsii 1 $a A R 3 & Td IAG $ 919 IO SRIa g1 96 WPR] T 31T F 3% g o §
WBR U & Paid Jbl F g1 SUR et 31 Foh 8 2ft 37 $a Wl & wga 3R Wid & HH g1 R bl I IR JUR AT 81 9 3 F 3imard 3 3rden Fafa
# gfg O & < oo A 2 et g oifla ovan 81 faey & wRedla vawit s o oo yRa F Ao § o SO ot go-ufd & seadt St 81 ger-ufd # gl
as «ff gt § wrafe Pt wlRr i v & uiaffa & omdh 31 SeervE: afg sruraewT= fRufd & fow IR & 1 Aftea i & mifees srar
JUHIET Bl a%g YAl Gl Hg B TN H Al

9 g5 31 Yl IUE et & HRUN 9 S 3 o A DY agal SR Jarell Bt 7 gft wA & o vt ger-ai Y sravadsar gl §1 g Ut Rufy
IdTeA ol Sga s Iade B Tge Gt ged o HFa-UuTed, Teifie! o1 usd § 81 gul U 4 i &1 I3 $=4 & ¢ ASFR & @ Bid 5 | A=A, doit
IR RN &t B, faggd 3 FHi, TRagT SR HRIA Ao B HHE & HROT 1} IdTe Tl 9 UTaTl $Hd GRoTHaey IS BT § g arel a¥gaft ik
Jarsll Ft HiT S SR i FH il 1 T VSR TERWId St 3

Q.No: 50 = & & fbg weg &1 wanT Iudad Teiw & =¥ fdam man 22

A St
B R
o LS
D affefa

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

&= - 3T U TR 3 ek UP U UKl & 9ed SR Saik T [ddmed o1 999 Pifo-

TGT T (U1 1S TN 8 o1 ST any ault § STafs Iu& ged # o/ axgy o1 Jard off o U | axgan ok Jarel Bt A F dgA-Hed & -I1d GEI-Udie
7 +ft 9g1d a1 gerd 8 ohdl B

3 el H dgd HH ol MY HERBITd dgalt 81 "GRG’ Bl 3 g—avgeii R Jarell & ged # gi | 391 i gg 81 ¢ fob Yrbiid g &
T it agstt 3R Jarsh o1 g Jedr 3 g a¥ogsi iR Jarell & I H 3 $© 39 TR Tt ¢ & IS $ol Yed-R d¢ ofidl § | GERpia a9 il §
e T THg-FTe B 9o 94 § iR srfoqawi o gHifad oRa &1 sifard et ud Jart S @re uerd, gy Ik ofR Ay |, I o
fEesie, Flearee ofe garwifa § waife nufad €t €1

ARG $ 4a oie et 53 H axgaft ok Jarsi 31 oo A ok 33 & $d IUE & 4 I0-1 SRigad ¢ 99 WOR] T o1 ¥ o4f® 1 9 § af
TWBR U & P1d Jb1  Ga1 IUR At 31 Foh 8 ot 3w oo Tl & g¢ 3R Wid & HH g1 | bl J IR IUR AT 81 9 331 F 31rard 7 erden i
# gfg St § O sea F S el gar oifsld wvar §1 fae=r & R vardt St 3 ara YR H 991 § ol S99 o ger-ufd 7 sgiot gt 31 ger-ufd A ofg
a9 off St € wafe Ffera wfr g R & uiaffa @ omwdh 81 SeervE: afg sruraeTe fRufd & e IR w6t 18 Pivea iR & mites st
JuNIGT D13 a%] YT TR 5T HRP YA & ari|

S gal $1 Ui Suad Uedh! $ BRI 9 Wil & of Qi ot aegell iR Aarshi @Y A7 I S & R vaf| ger-Af B srazgemar gt §1 g ¥ Rufy A
TG 1 sgal Fifs Iare H Uga Tt 9o S Ara-3ne, Melfiet offe g ¥ 81 gul &0 A7 &1 O 3 & AU AR # 1 g 31 7=, oot
3R Tt ot B, fagga @1 Ff, e SR $I Tug 31 FH & HRO U IATEH 7 9¢ U1l 39 URvITREaEY 3ifde Tl & g arclt axgshi ok
Jaraft 3t A7 Sifdw iR gfd W T 1 39 ISR eRwifa Sgdt 71

Q.No: 51 f= # & ‘smua-Fafa § F9-w1 999 82
:779&' T
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A “IgHIIQ I
B FHYRT THN
C TE 9N

D o o

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

e - AT TG TR #Y ugeR U Y TR F ged 3 Saik i faded $T 99 Sifed-

TS BT U B3 TAT To! 51 ST Ay @it § el I dadl & 3T IRGE 1 Yard o o T | axgaft SR Jarsfl &t A6 & de-ved & qiy-I1 gE1-9aig
7 1ft 9g@ a1 gerd g b B

A Fal H 9gd B Ao MY’ @ GRS dgat 31 HaRpia” o1 31f g—awgel iR Jareff & g # 9fa | 391 3w a8 el § b qarepifa s &
Tog Tt aegeit SR Qareii 1 g el & g auogell 3R Jareh & Tew § 9 39 39 TR Bidl ? [F IS S0 Ieu-%R 96 Il 8| GERPIa a9 gt §
9 YT THg-F1a & 9o 96d © oI srfeqawil &1 quifad $xd ¢ sifFard ol Ud Jard o T verd, grel i 8iR aelt |, a1 ok
fEesie, sleaRe ofe gerwifa & Jaffde gufad gl 81

eI & g ofs fodt 53 | axgell ok Jarell 31 $a A 3R < & T IAIG $ o I SR ¢ | 96 WHRI W 31T A 4F g a1 §
PR ST F P=<T IH1 ¥ g1 IR At ¢ Foit & o 37 o Tl & 9g7 SR TWid & &H g R3B! I AR IYR AT 81 99 o F 3mara &1 s FHafa
# g Sl 8 1 Sea F S faext gar eifeld wvar 31 fay # yRdR yardt st o a0 YR H 99 § of S99 ger-ufd § SRt gt 81 ger-ufd 7 9
a +ft it § wafe Ffsy wlRr afa wfRr ¥ uRafda 8 ord 81 Serve: afe sarawre fRufedl & forg Teicie) Wt 71E fAfspa i & miferes sruar
JUHIT PIS A% YT TR 60 TP WA § A

STa GET $ gl Swiad Uedh! & BRI 96 Wi ¢ ol Al df aegel iR Jarsll @ A g wRA & o vai| ger-1i Bt srawgdmar gt 71 g ¥t fRufy A
TG 8! Sgal Fifd Ide | UG Gt 9 S AMa-Sare, Weifiet oife ugal ¥ & 9ol F9 3 747 &1 1 $1 F g AR # @ g 31 7=, oot
3R Uit @t B, faggd @t HHi, uRkaeT SIR HRIa Aol @1 St & RO o IdTeH Tl 9 U1l $9% TRUTFRaEY ¥ T F g arel aegah ok
Farsii @t AT Sifie SR IR &1 TRt §1 $U UHR JRwId T6dt o

Q.No: 52 P & ¥ i &1 fadm Weg HH-T1 22

A wafea
B Jurfeta
C i

D SRt

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

&R A 3T U RIS @ Ugeh U TN URAT & Yad IR IR dd el o1 9u- Pifod-

TSI BT (O 15 TN ot g1 39! ey @it § Tafds Iud gad # 3T axgQ a1 Jarg off o 9 | Txgeft ofR Jarshi &t A6 & 96--9ed & WY-91Y GE1-a18
# 1ft 5g1a a1 gerd € 9dhal ol

"3 Yol | dgd HH AN 318’ ol GRS Sl 81 GERBidl” BT 3 g—awgafl 3R Jarsfi & 7oy ¥ gl | 39e1 i ¥ el § o qurpifa g &
T |l aegsit SR darshi &1 e Fgar 3 Sifig auegsi SR Jarsh & 7 # 3 $© 39 UPR 8Nl § [ 9P Ta YI-WR ¢ Sl 31 ERWIG a9 gkl §
o9 FfEd wrg-Fa ¥ 45 96d ¢ SR srfcqawil & Juifad axd g1 Sif+ard 9% ud Jard o e verd, g Il ofk dai o, 919 SiR
feesie, Pl o gerpifa ¥ ot uvifaa St €1

ErRwifd 31 ga oig forxht T2 H axgell ok Jarehl &1 Fa A ok W F F IR F 9T ST R 8| 9d WHR T o ¥ ifdes & o & o
WHR S F H=HT IH1 ¥ GF1 YR At g1 Foht & 1f o/ ot Tdf & Tg SR Wiid & HH g R SH! I AR IYR AT 81 97 <1 H 3rard 31 e Fafa
# g St ¥ < wea A A faRei gu oifSfa FRan 31 3w # uRedT yarft st o Ao vRa # AN ¥ O SUd o ger-ufd & et €t ¥1 - A o
aq ot gt § wale e wlr wfsa vl & ufiaffa 8 ordt 31 SerervE: afg sirawTdy fRufad & e wsioier w6t 18 Aisea iRy & mite s
JUIEIT Bl a%g YAl G g B TN H Al

S gl B gfd Swiad Uedh! & BRI 96 Wil & of Qi Y aegell iR Aareli & A o A & R gafw gar-1fy @t snawgesar gidt §1 weeg W Rufa A
I el Sgal i Iaet B vgad gt god 9 HIFd-gaied, Weifie! offe e & @ 9ol U 9 7 &1 g S & g AR & o g 81 =i, doit
3R Uit @ B, fagga @ F4i, uRaeT 3R Fxa Aol &1 HH & SR it Ide T8 9 U 39 URUTFRGEY i 7T § g arell aegai ¢k
Jarafi Bt HiT 3P AR Yfef HH el 1 TH USR GBI g6l 6

=@ Y 2 2o 7= 3 o = sor =0 R
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5 TN A X VIR YT YINT I Y270 YY T Y2 v
Q.No: 53 N

A iG]
B SR
C fAfesa

D TforTRis

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

FERT: FTER $1 UgaR G T U & Y SId SaR ard faded $1 99 Pifor-
g d - TR YSHIl WY HF, & d:

4 - 1 Ue ST ST UL

a1 R Y g, I3 3 S

ER §ie 1 Fiel T, Y S X &,

T fea-ft te RR T A = g

T B, 30 WG - W, I3T B,

A3t B gt Ma R g1

G §? A1 ¢ I A &% UM

S X, I § - IFR @

I8 Fell & T ¥, B H, SRAM S

39 o) HieT e, 59 @e RR aF smn

giferdt A Yft T@ el T &, & St

TID] DI & @1 Yabdl Y, &l STl

% fau? a1 RR T o 31 Fer -

A B g W, Fardl = SdrE

o9 P RR G - =R o Frear 31 Hid o - 71 Rig 1 98 Siear 82
feT @ b e G g1 B, Wil g R W07 § 9% S g o

T A 9 am-Rig § yarE 9y T S TR S

Q.No: 54 TREq U= $T Y HId F1 82

A Tagad! Bl ST Bt SR AR BT

B Tagaam! Bl HRgdTel faaRYRT @t 3R URd B
C a1 B AN - Wi W g9 fam F g e
D SR T Tife gon & o ORka e

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

& P B UgHR IR T U F g8 ST SR I f[Awed o1 T8 Piforg-
g & - TR YSHMT WS gOF, IR q:

offy - 91 G UgH I S 4l

10T R 1Y §, I3 & S

R a1 &1 Tl 99, Y I PR &,
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& for-Mik v RR &1 A R 31

YA IR, YA RS - W, 3T IR,

A gdel B gt M R g1

TG B2 AT T H &% UM !

S P, G A E - IR Far|

I8 Hall & TH ¥, Ba-=U T, 3R 3

39 < Hig1 e, 69 we RR ar smm

Sifedl 7 4t T deaT §T ®a, <@ S

TXID] BT & G Ybd B4, g&f STt

B fu? a1 RR 3 o~ 31 wgrl -

Py B G Y, Fadl I SaE

o & RR T - R Frear 31 Hid & - 1 Rig T 98 Shear 82
Afedt @ & arew @ gH1 8, W 81 W uror & 9% S gl 3
qA A Qo 9H-Rigl # Hart {9y B SfmE axaEl S|

Q.No: 55 U=[iwr # 3¢ a g’ Wee &1 Yy fPad forg favar mn g2

A g
B gl
C Eall
D Jfear

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

=T P Y UgaR U U U & a9 3T SR a1 faded &1 9o Fifn-
g d - TR YSHI WY YU, I d:
FERRGRERE S R

1o R 1Y €, I3 3 Sar

R i1 1 Wiel =, Y S IR G,

% f39-fR e R @1 diar s 2

A B, U RG]l - W, I3 Y,

31 gdet § 5 gt g R g1

T 82 1 8 9 H &% g !

S B, LU S - TP 4|

98 Pl &b M ¥, Ba-w0 H, SRAM SN

W o) HieT e, 759 e RR aF emn

Siferdl A Yt T@ @eHl {GT ®d, T 3t

TIT P T G Hbd HY, F&f STl

%d feu? a1 RR T & 31 For -

A B G W, gardl g SdrE

o % RR F1 - =RO7 o Frear 31 Hid & - 71 Rig 31 98 Siedl 82
Afet @ré & Ty @ 9@, Wi g W uor § 98 o 96 3
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A A T 7H-Rig § vart 9y o1 st awart sar

Q.No: 56 "yEiaT &1 31 B-

A SIS
B Hom
c Mamgfe
D LI

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

&R BT B UgH GP T U= & Ha9 STUd IR i faded &1 9ae Sifore-
g o - TR YSAT WiE giF, IR d:

of¥ - 91 G UG a1 S Y

10 R Y 8, I3 3 S

TR S 1 Wil 9, Y S I &,

T foA-MR v RR 1 Hid & 3

A B, AT el - T, IBT P,

A gdelt § 5 gt g = g1

TG 82 A1 S A H &% U

ST B, A S - TP Sar|

98 Fall & M ¥, BA-w0 H, SRAH N

Y o HieT s, fhe wRe RR A S

Siferdl 7 | T dcl AU B, T el

XD B & W61 Yobd Hd, &l STl

% fau? a1 RR AT &= 31 g -

Ty X g H, Fan 9 SaE

4 & RR 31 - =R @1 Frear 81 i & - 1 s @1 95 sfedl 82
JAfet @ & Trew @1 g1 €, WiT §1 IR uor § 98 o 997 3
A 7 Gl 9r-Re F v fay B SR FRT Sart

Q.No: 57 "9 & RR B1-TRI oY el §1” Iaa ufeqdl § - I EdR 872

A SUHAT 3fTiPR
B TUD SAPR
c SV 3P R
D I SEiPR

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

& ST I Ugdh YY TU Ul & T IR Iak I fadhed & 997 Hifor-
U8 d - TR YSHART WS JHE, IR d:
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yffy - 91 UgT I SIS U

a1 R Y g, I3 3 S

R i1 1 Wil =, 4 S IR G,

% f39-fR v RR @1 dia ax T

YA I, 30 R - H, I3T IR,

g gdeht § 5 gt A xS

I §2 A1 S A H &% UHT !

Sfg B, P I T - SH @

98 el & 1§, Ba-wU H, SRAH

39 ol HigT SR1el, 6y We RR a emn

Siferdl 7 yfft T e 6T B, 9 Sl

A P & W61 Yobd B, Jal STl

% 3T a1 RR f&T a& &1 Sgrt -

Ty B I H, gardl I SarE

4 & RR BN - R0 1 Freat g1 Wi A - T K5 B 76 Siedl 82
fedt @ & Ared @ gH1 &, Wit §1 W WIor & 98 o 91 3
A A Qe e-Rig § vart {9y o1 s aear Sar

Q.No: 58 "Y' Yeg &I I Tafgarh ee 781 ® -

A PR
B Eall

C haid

D g

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

SR HIR &1 UgHR U8 MU U= $ FaY S IR ald [dded &1 9 Hifore-
e & - TR ST WIS YO, I s
WA - 1 Ue 9T 3T et

10T R WY B, 33§ S

R SieT 1 Wil =el, Y S R G,

T fou-fiRk T RR &1 did a2

A B, AU Rl - W, IBT B,
A5 ¥ gt A s= g1

G g2 AT R T4 I & U !

S IR, I - IR F@r|

I8 Hell & TH ¥, B H, SRAM S
39 o HiaT geral, by e R smm
giferdi A Yt T@ el T ®d, T St
XD BT & Q1 Hobd B, Jel STl
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T fqu? a1 RR fdu &~ ot werl -

A B G H, gl = SdrE

o % RR 1 - =R Frear g1 Hid & - =1 Rig 31 98 Siedl 82
Jfedt @rs & e T g1 &, WioT 8 R Wor F 98 7 gl B
a9 Qe 7m-Rig § var 9y o1 st gt sar

Q.No: 59 T¥Id U=y &I Uik fhue! eifvd el § 2

A -
” A
c P

D ™

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

2T ST $T UgaR U T U S e S Sak dr faded 1 9 Hifor-
U8 d - TR YSH WHS YHF, TR d:

i - 1 TG ST S U

1o R Y g, I3 9 S

ER SfeT 1 el =el, Y S IR G,

T fgH-MR v RR &1 Hid &R 3

A DY, 3 R - Hl, IT I,

8N ¥ gt A = 311

TG 82 WG T A % U !

S P, A § - IR Far|

I8 Hell B TH F, B H, SRAM A

9 ol HigT s3rel, 6y @e RR T smn

SIferdl 7 yfft T deal 3T B, 9 STl

TID! BT & 1 Ybd HY, gaf STl

%q fAu? 91 RR 3T 0% &1 ol -

A B G H, gard! I SarE

o % RR 1 - =01 ) Frear g1 Wi o - o1 Rig o1 98 Siedl o2
Afeat T fob Aew B g1 8, W & W v A 48 S b B
@ A T 7H-Rig § vart 9y o1 st aeart sar

Q.No: 60 "TF & HerI" 1 UeT § @l 82

A Rigd &I g AR 4 A S11
B A G B
C & T B
D T & - I5HR B feraa Bl

Correct Ans : A

Subject : Hindi Bhasha 01
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Q.No: 61 What should come in place of the question mark (?) in the following question?
2466988
36 x 18 -3 +412+8=7?

Fafafad uy & uyaras fag (7) F RIF W &1 3T 91eu?

36 x18+3+412+8=7

640
A

640

620
B

620

618
C

618

636
D

636

Correct Ans : D

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?
2466990
(1443 + 78) x (19550 + 425) =?

fafafad uy & uyare foe (?) & RIA W a1 3T 9fgu?

(1443 + 78) x (19550 + 425) = ?

761
A

761

821
B

821

851
C

851

961
D

961

Correct Ans : C

Subject : Mathematics

Q.No: 63 The difference between the square of two consecutive numbers is 15, then the numbers are and
2467127

21 HANT Tl & o & ofiF &7 SR 15 B, df Te 3R H|
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6,7

6,7
Correct Ans : B

Subject : Mathematics

Q.No: 64 Fifteen years from now Ravi’s age will be four time his present age. What is Ravi’s present age?
2467283

39 Y Ugg af 916 I T g IUST I g B AR T SN M 3V IAE emg @ 82

10 years
A

10 I§

5 years
B

5 a¥

6 years
C

6T

8 years
D

g8 a¥

Correct Ans : B

Subject : Mathematics

Q.No: 65 Ifx:y=4:5,then (3x +y) : (5x + 3y) will be:
2467464

aEx:y=4:5 8 Bx+y): (5x + 3y)

3:4

A
3:4
5:3

B
5:3
17 : 35

C
17 : 35
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Correct Ans : C

Subject : Mathematics

. . . . 22
Q.No: 66  Find the area of circle whose radius is 8.4cm. (TE = —)
2467536 7

T T AT BT TG T 8.4 9ol 1 (= 77)

221.76 cm?
A
2
221.76 YA
22050 cm=
B
2
22050 9!
120.75 cm?
C
2
120.75 THT
26026 cm?
D
2
260.26 THI

Correct Ans : A

Subject : Mathematics

Q.No: 67 Two adjacent sides of a parallelogram are 21 cm and 20 cm. The diagonal joining the end points of these two sides is 29 cm. The
2467652 5re3 of the parallelogram (in sq. cm) is:

TP THIR I D &1 31 YIS § 21 ST 91 20 I | 39 1 ymsll & sifan fgshi o1 ffram aran famol 29 Ih 81 I9iR Igys &1
aama (o It #) §:
240

240
120

120
210

210
420

420

Correct Ans : D
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Subject : Mathematics

S

1001
999

1001
999

999
1001

—_
w| 8
—

9
1001

1001

Correct Ans : C

Subject : Mathematics

Q.No: 69 /1024 is equal to:

2467987
V1024 % IR ¢
72
A
72
22
B
22
12
C
12
32
D
32
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Correct Ans : D

Subject : Mathematics

Q.No: 70

60 _ > - K Co-
2468000 IfT =i then the value of * 1s:

2= A BIAME:

12
A

12

25
B

25

45
c

45

60
D

60

Correct Ans : D

Subject : Mathematics

Q.No: 71 The complement of 65°50” is:

2468127

65°50' BT TP ©-

24° 50°
A

24° 50°

24°10°
B

24°10°

14°50°
C

14° 50°

34°10°
D

34°10°

Correct Ans : B

Subject : Mathematics

Q.No: 72

2469870 Find the product of binomials (:i + 3113) and 4 (m2 - %)
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(BL‘Z_l_ 3112) .31’7{4(1112 —ij)wﬁmmml

3m#*-10mn?- 8n*

A
3m#%-10min?- 8n*
3m?*+ 14m3n?- 8n*
B
3m?+ 14m2n2- 8nt
3m* =+ 10m3n2- 8n*
C
3m*-+ 10m?n?- 8n*
3m*-14mn?- 8n*
D

3m*-14m™n3- 8n*

Correct Ans : C

Subject : Mathematics

Q.No: 73 If (x —6) is the HCF of x2 — 2x — 24 and x? — kx — 6, then what is the value of k?
2470003

(x - 6) TT& x2 - 2x — 24 3R 12 - kxt — 6 BT AGTH FATIIEIE &, ql k PT AN FT 87

3
A

3

5
B

5

6
C

6

8
D

8

Correct Ans : B

Subject : Mathematics

Q.No: 74 : ; (r-m] (m-n) _ 5
3471921 simplify 1/14a + 1/1+4a 7

wWeligd &Y 1/1+a"™ + 1/1427 = 2

A 0
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1/2
B

1/2

1
C

1

gm-n
D

gm-n

Correct Ans : C

Subject : Mathematics

Q.No: 75 Micro teaching device is designed by

2475400
TsH! A oy grT feoga frar man §
Cruk Shank
A .
PP AP
B Fl_anders
Buch & Allen
C
9 3R @
D Skinner
R

Correct Ans : C

Subject : Mathematics

Q.No: 76  When the aim of testing is to compare the classes then use is made of
2475507

e RIS BT IR B3 B o ST gial & dl ITANT fbar o 8

teacher made test

A e Pt e
diagnostic test
° e wdem
standardised test
¢ HHEBIDHA TR
D aptitude test
oden

Correct Ans : D

Subject : Mathematics

Q.No: 77 What are the mathematical operations involved in Ranking scale of measurement?

2475628
a1 3 e Aam & =i iR Tere @ 2
A Addition
B Subtraction
uc
Less than or greater than
C
Y gl SRR
D multiplication
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 27/57

Page - 27



o

Correct Ans : C

Subject : Mathematics

Q.No: 78 A good objective should be

2475882
T 3731 3527 Tl dlied
related to teacher

A
Rers & waifa
testable

B
e drg

C small

D attractive

Correct Ans : B

Subject : Mathematics

Q.No: 79 NCF 2005 emphasises that

2475908
TRAUE 2005 39 91 W WR & § &5
At the pre-primary stage, all learning occurs through play rather than through didactic communication
A -y WR W, it g0 IuUHS YR & aoig B S w1eq S gl §
Children engage themselves in rote learning of the number sequence
B T S ot e s & ) e e 8
Mathematical puzzles create a sense of fear in the mind of children
¢ e ) Rt =t 3 o A SR el 2
D Teachers should not allow the children t_o develop arguments
Rigrp! o1 7= B 76 (BRI B Bt AR 781 &7t FMMeY

Correct Ans : A

Subject : Mathematics

Q.No: 80 If‘x’ means ‘-’ ‘-’ means ‘+’, '+’ means ‘x’ and '+’ means ‘+’, then what will be the value of the following expression?
2480961
16 x8+4-3+9=7

g 'x B e -1, - BT e e, e BT o xR '+ o o ' B, O Fafifea i &1 | @ e

16 x8+4-3+9=7

10
A

10

19
B

19

20
C

20

9
D

9
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Correct Ans : C

Subject : Mathematics

Q.No: 81 If 'x' means '-', + means 'x', + means '+' and '-' means '+', then what is the value of the given expression?
2480964
175-25+5+20x 3+ 10

e < @ -, + H 3 %, + FT 3+ AR - T e '+ B, oY AT U vl &1 HH 9T 32

175-25+5+20x 3 + 10

77
A

77

160
B

160

240
C

240

2370
D

2370

Correct Ans : A

Subject : Mathematics

Q.No: 82 Development does not include:

2481685

fara & =nfia = T &
A Maturation
B Learning

Synthesis of abilities
C

&HATST BT HeNor
D Capacity

&Hdl

Correct Ans : D

Subject : Mathematics

Q.No: 83  What will be most appropriate in case students conduct indecently?
2482297

Ife BH S AR DA § ol Jad STgad T gIm?
To make them feel guilty

A
3% < HEYy FREA
To get very angry upon them
B
B W Fgd TR DA
To punish them
¢ % &fea v
D To make them feel ashamed by preaching
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JUST IR 3¢ AT BT
Correct Ans : A

Subject : Mathematics

Q.No: 84  You are invited as chief guest in a function. You will—

2482322
3D T TARIE B g ifaf & wu # smifya fasan omar g1 smo-
reach there on time
A
I W 981 ugs
reach late and feel proud
B
R Y UE SR T gonr
reach before time
¢ T ¥ Ugd ugd
D reach.l.ate and agologize
R Y vg SR AT AR

Correct Ans : A

Subject : Mathematics

Q.No: 85 The place of a subject in the school curriculum is decided by
2482437

ol ureusH # fdl fawa &1 =M e g1 fbar Siar 82
Availability of teachers

Rigrept @t Iucre

simplicity of subject

fawa St araar

It's mass connection.

g T B §

D help in achieving the §im of education
& & TeT Y W HA | Aeq

Correct Ans : D

Subject : Mathematics

Q.No: 86 What I like about teaching is that it is the

2482442
T e F IR AN WG T|WIE S b
Most peaceful job
A < v o
5 Resort of even the least competent persons

FH A FH Gum Al o1 ff T ®IF
Most challenging job

T Aol P

Most lucrative job because of the scope for private tuition

ol RA 3 YRR & HRU T HHYR

Correct Ans : C

)

Subject : Mathematics

Q.No: 87 Absenteeism in the class can be minimized by
2482477
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Pl § Uy B P g1 W foa o o @

telling students that it is bad to be absent in the class
BT Y AT o e F SRR 6 /T 8

punishing the students

BAE! B T FA

teaching the class effectively and regularly

Fe @Byl < F iR Fafa wu d ugrr

ignoring the fact of absenteeism

B ¥ B e

Correct Ans : C

Subject : Mathematics

Q.No: 88 Good teaching is best reflected by

2482502
ST TRIET oo, § gdfom ®9 4 uRafed giar &
attendance of students
A 7 7 S
number of distinctions
° i3t
meaningful questions asked by students
¢ BET §RT B T i Uy
D pin-c!rop sj‘lence'in the class
w1 & fOF-gly wsaw

Correct Ans : C

Subject : Mathematics

Q.No: 89  Micro-teaching components are

2482709
eA Rreqor e §
Micro-teaching situations
A g&A Rreor fRufoat
Teaching skills
° e S
Feedback Devices
¢ e gue

D All of the given option
faw g wt fawea

Correct Ans : D

Subject : Mathematics

Q.No: 90 Gestalt is associated with-

2482823
A Wertheimer
Organisation in verbal learning
° e e & T
c g_?lour
D Motivation

Correct Ans : A
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Subject : Mathematics

Q.No: 91 Salim Ali was related to which field and a leading conservation scientist who influenced environmental policies in our country for
2469374 ,yer 50 years?

Tl 3relt T R TRefvr JFAe & o 50 ¥ 4w anf F guR o F gafaor il o wfad far 8, 3 g &9 § waifda 3

Herpetology

A
g fom
Mycology
B
H9S faH
Entomology
C
Bl
Ornithology
D
veifase

Correct Ans : D

Subject : Environmental Study

Q.No: 92 The main component of biogas is-

2470203

TN BT 5T Wid 8-

CHs
A

CH,

CO?
B

COz

co
C

co

H:
D

H-

Correct Ans : A

Subject : Environmental Study

Q.No: 93 Project method in teaching is suited most to
2470416

Rreqor 7 uRaiorT ugfa ged @ifiie Iugad didt §
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promote scientific method

A
e usfa # derar A §
promote understanding of basic concepts
B
AR SryRoTel Bt T B g |
promote numerical abilities in child
C
¥ § GO &rel i gerar 3 H
strengthen reasoning skill in students
D

BE A a5 PINA P! Aol B A

Correct Ans : B

Subject : Environmental Study

Q.No: 94 Which of the following is not a method to teach EVS?

2470420
Frafifad & 3 S Sy ugrm @1 fafy == 82
Problem solving
A
HHT JHIYH
Guided enquiry
B
R ypars
Co-operative learning
C
TEpRI TR
Explaining through lectures
D
TR & HIHAH o AT

Correct Ans : D

Subject : Environmental Study

Q.No: 95 Which of the following is not directly harmful for human health?
2472090

Fafifa § ¥ o1 99 W F e Ty U ¥ siNeRS Y 87

co
A

co

CO;
B

CO;
C NO
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NO
NO:

NO2

Correct Ans : C

Subject : Environmental Study

Q.No: 96 An increase in concentration of toxicants at successive trophic levels and these toxicants get accumulated in organism’s body is

2472095 ynown as

AR G WRT W fwrea uerf 3 wigar # 9fg ok 3 fqwrad verf e F WRATN AWK E, S Fea ©

Mutation
A

IaRadT

Biomagnification
B

S e

Mal nutrients
C

A UINS dd

Denaturation
D

fapatmRo

Correct Ans : B

Subject : Environmental Study

Q.No: 97 Soil erosion can be prevented by

2472289
g} & Fera 1 AT W1 Tl &
growing plants to form a soil cover.
A
it &1 3IaR0T M & ferg W S
Allow grazing,
B
TS BT SN S
increasing irrigation.
C
=g & gfa
deforestation
D

T P P
Correct Ans : A

Subject : Environmental Study

Q.No: 98 What help the fish to change their direction and help them in maintaining balance in water
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2472402
TS Bl AU TR e SR U § Ugad 991C XA § 1 HEg IRl §

flat fins and tails

A
wic 4 iR 4p
gills
B
BT
scales
C
GRS
snout
D
L

Correct Ans : A

Subject : Environmental Study

Q.No: 99 The crops which are sown in the rainy season are called?

2472478
quf 35q H a3 S el BHd Pedl 67
Rabi Crops
A
il Bl B
fodder crops
B
R B
Kharif Crops
C
Ti% Bad
Weeds
D
WRYAAR

Correct Ans : C

Subject : Environmental Study

Q.No: 100 Which technique is recognised as a powerful supplement in inventing new hybrid varieties of

2472502
seeds?
IS 3t 78 YR el & snfawR # fod daa-ite @ T WfFael [Reb & ©4 H Al
T g7
Genetic engineering

A
S geifara

B Green revolution
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Bk wifr

Pollination
C

TRET0T

Fertilisation
D

IGLEC|

Correct Ans : A

Subject : Environmental Study

Q.No: 101 The kind of malnutrition MDD stands for-

2472723

PN HT TH YR MDD 1 34 -

Malnutrition Defect Diseases

A
AR fethae fforer
Micro Defect Diseases
B
Az fethar f3foret
Milk Deficiency Diseases
C
e SR fefoe
Mineral Deficiency Diseases
D

firrea SfbiRe: f3foret

Correct Ans : D

Subject : Environmental Study

Q.No: 102 India’s first rocket was launched from-

2473972

YR &7 YT Abe Dl 9 uaid o mar ure

Science Academy

A
famm st
Thumba Equatorial Rocket Launching Station
B
YFT SN Abe AT I
Indian Academy of Sciences
C
HRGY o siepret
Department of Rocket Science
D

e fag faum

Correct Ans : B

Subject : Environmental Study
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Q.No: 103 The flight test of indigenously developed HEAT Abhyas was done from :
2474163

Wexlt wu ¥ fowRa gR-ulie teussa thad erile (Ee) S1amil &1 IS WIS THadidd.
Integrated Test Range (ITR), Chandipur

A
THIPd WHewr I (9%, 31.9R. ), TR
Satish Dhawan Space Centre, Sriharikota
B
Tl o sfaiel F, MeRarer
Liquid Propulsion Systems Center, Thiruvananthapuram
C
WA Ui JuTTelt %, fova-aga
Space Applications Centre, Ahmedabad
D

Sfafke SN H, SEHGEIG
Correct Ans : A

Subject : Environmental Study

Q.No: 104 The LEOS present in Bengaluru stands for -

2474185
1 H Hivg Ua.E.90.T9. (LEOS) &1 YUl ¥ § -
Laboratory for Equipments and Optical Satellites
A
AR BR TPUicy (S e Jeasey (STHU 3R TR STE! & g wem=mem)
Laboratory for Electro-Optics Systems
B
TeRed BR gaac)-3ifoa Rer (faqga ueiiRt 9 ydimemen)
Laboratory for Engineering and Operations of Satellites
C
AR BR AT T TR i Yearged (STWEIo & ST iR TareH ¥ g wemsirr)
Laboratory for Earth Observation Satellites
D

Aaiked B o Sifeoram Warsey (qull Sraciie SuwEl & R =)
Correct Ans : B

Subject : Environmental Study

Q.No: 105 Which of the following meteorites has been recovered in the UK in February 2021?
2474212

Fafifad # 3 $1 1 Seoiits mRad 2021 ¥ g6 § RWe & 82

Glasgow meteorite

AR IPIUS

B Manchester meteorite
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HTRRR I

New Jersey meteorite

g wiff Sewiitis

Winchcombe meteorite

faaere Sepifts

Correct Ans : D

Subject : Environmental Study

Q.No: 106 Which of the following soils is the most available soils in India?

2475684
i # § $1 @ it YRa § I o1 Iuasy B arelt gt 82
Saline soil
A
ard gt
laterite soil
B
devze figt
red soil
C
et firgh
alluvial soil
D
el gt

Correct Ans : D

Subject : Environmental Study

Q.No: 107 A lowering of the groundwater-surface caused by pumping is known as:

2475721
YT & BRI YOI PIAAE FIGH AT Hgandi 8
drawdown
A
s
dripdown
B
USRI
draught
C
bl
dripdew
D
fgusy

Correct Ans : A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 38/57
Page - 38



Subject : Environmental Study

Q.No: 108 Nutrients present in oil cakes, after mineralization, are made available to crops ____ days after application. Fill in the blank.
2475783

Tl § HiG UG 7, GHSTaul & 916, BUal & aF & _ (&7 915 Suasy &7 fou o 1 e =M ¥

7-10
A

7-10

5-7
B

5-7

10-12
C

10-12

15-20
D

15-20

Correct Ans : A

Subject : Environmental Study

Q.No: 109 A soil or rock below the land surface that is saturated with water is known as:

2475925
Ui B T F R B B a1 ggE o arh @ daw @t 8, dearnd 8
aquifer

A
Sierd
aquifer (confined)

B
% aYd (confined aquifer)
aquifer (unconfined)

C
Q¥ vidYd(unconfined aquifer)
other aquifer

D

S YA
Correct Ans : B

Subject : Environmental Study

Q.No: 110 Which of the following are three major important elements in plant nutrition?
2475945

it & dwor 3§ Fafaad § o9 9 &9 uga gagf 7@ §?

Nitrogen, Sulfur, Phosphorous

AZCIoH, TehR, BRORY
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B Nitrogen, Phosphorous, Potassium

ARCISH, BRERY, WeREd
Oxygen,Nitrogen and Carbon
C
Carbon, Calcium and Potassium
D

P8, Hicxd IR GRREH

Correct Ans : B

Subject : Environmental Study

QNo: 111 A |arge quantity of dead organic matter/ humus which makes the soil alkaline.

2475982 \hich of the following soils is being talked about here?
Id FEfAw Terel/eRoT H T I3 AT Y FHE & sy 81 951 Reatarad §
o TEET v ara Frarw@re?
Marshy Soil
A
Teed gt
Forest soil
B
7 gt
Mountain soil
C
et gt
Red soil
D
ar gt

Correct Ans : A

Subject : Environmental Study

Q.No: 112 When was the National Seed Project Phase-I started/operated?

2475989
TSERT et IR TR VT- 1 ehel Q&/Teld TR aram ar?
1976-77
A
1976-77
1977-78
B
1977-78
C 1978-79
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1978-79
1979-80

1979-80

Correct Ans : B

Subject : Environmental Study

Q.No: 113 How many Ballon d’Or has Cristanio Ronaldo won?

2476517
fopeeTl ATt A foba e SefR ofid &2
4
A
4
5
B
5
6
c
6
7
D
7

Correct Ans : B

Subject : Environmental Study

Q.No: 114 What is the national game of Scotland?

2476646
Wicds P IFH T M §?
Rugby
A
Tt
Tennis
B
i
Golf
C
et
Chess
D
RG]

Correct Ans : C

Subject : Environmental Study

Q.No: 115 One of the demerits of demonstration method is
2477166
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e fafy & sraru 3-
Students lose the power of thought

A
oM faar ¥t 3fda @ <A §
All students do not observe the experiment
B
wft T wE B e T8 FRa §
The teachers do not get a chance to perform experiments
C
gt Y TRT HA BT ¥R eI e
Improper performance of experiment by the teacher creates lot of doubts in the minds of students
D

fRierp ERT WERT BT SR TeRiH SET & 7 § 9gd WK X1 UeT el §

Correct Ans : D

Subject : Environmental Study

Q.No: 116 Which gas is continuously formed by the action of UV rays on molecular oxygen?

2477833
3nuifaes SffeRfior U= gdl Rl 1 fbar & o W I R St 87
CFC
A
Rl
Ozone gas
B
el
Methane
C
Ha=
Carbon Dioxide
D

Pla SZARIZS
Correct Ans : B

Subject : Environmental Study

Q.No: 117 What amount of carbon dioxide in the atmosphere is known as the delicate proportion of the same, crossing which the natural

2477887 greenhouse balance may get disturbed?
TIASA § P SRSHFIES $I Bioa- AET S $ AP U & U H oI kil g, Ol IR B ¥ TP iad T ey Iga TSas! Iadl 97
0.1%
A
0.1%
B 3%
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3%

0.3%
C

0.3%

0.03%
D

0.03%

Correct Ans : D

Subject : Environmental Study

Q.No: 118 A goatisa -

2477957
T T4 § -
Producer
A
Jdlgd
Carnivore
B
AiEERY
Primary Consumer
C
e It
Decomposer
D
UUch

Correct Ans : C

Subject : Environmental Study

Q.No: 119 Which of the following can be included in a Portfolio?
2478544

1. Self-assessment sheets

2. Peer assessment sheets

3. Parent assessment sheets

Choose the correct code -

Fafifea & 3 F1-a01 ' Wit # i B S w32
1. W 3frber Qie

2. GHSHE B e

3. HYHIES D e

el He g -

Only 1 and 2

Pad 1 ek 2
B Only 2 and 3
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Fad 2 3R 3

Only 1 and 3
C

Faa1 3R 3

1,2and 3
D

1,238R3

Correct Ans : D

Subject : Environmental Study

Q.No: 120 A teacher uses evidence or information from different sources to provide regular and timely feedback and plan the teaching-

2478586 learning accordingly. By doing so, s/he utilises which purpose of assessment?

% g Mo iR 99 R $ieds YoM 31 & e faftm Sidl ¥ 916 a1 SHSRI 37 ST =4 § IR dadaR Rievr-ofem &t dier

T S| U1 b, I8 3Mher B [y Ie=d BT IUUNT Id &7

Assessment for Learning

A
e & fg eneer
Assessment as Learning
B
W & U H Sfieber
Assessment of Learning
C
e &1 3febar
Assessment by Learning
D

e & gRT S
Correct Ans : A

Subject : Environmental Study

Q.No: 121 Evidence of validity can be related to
2474289

a1 1| K 5 RSN Y i g1 Weparl g1
construct
A
fmfor
content
B
grrft
criterion
C
AFES
D all of the given options
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o o wuft e

Correct Ans : D

Subject : Child Developement

Q.No: 122 School based assessment

2474310

TG YR e

makes students and teachers non-serious and casual
A

B SR et &1 iR SR AR s &

dilutes the accountability of boards of education
B

R S F IS P HH Il ©

hinders achieving universal national standards
C

T 99 TP HFS S S Sl §

helps all students learn more through diagnosis
D

et & ST SeaR Reor F Jit SE P Ao AT

Correct Ans : D

Subject : Child Developement

Q.No: 123 Play is not a trivial pursuit but a serious occupation for a child which has a deep significance for his development according to
2474459

G IS A Gl el § it U e b Y Ueb TR o ¢ forepl S SJHR I fdebrd & Y 16 Hewd &
Maria Montessori
A
Aifvar Hidwd
Froebal
B
IS
Hurlock
C
FEGIED
None of the given options
D

2w e fawedt § § IS
Correct Ans : B

Subject : Child Developement

Q.No: 124 Knowledge of child psychology is a must for a primary teacher. That is because
2474544

Tfies Rigfb I aTel HAIATH BT T g1 S &1 gl BRY ¢ b
A It helps in making children disciplined
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T P SRIT B F Heg pear &

The examination result is improved

B

e & aRRomHr ¥ guR gen §

It becomes a convenient mode for motivating children
C

! &1 WG PR BT I8 TP YYD Rl S Il &

It helps the teacher in understanding the behavior of children
D

T P UIER I AT H RAerp] 3t Teradr ol §

Correct Ans : D

Subject : Child Developement

Q.No: 125 The incorrectly associated pair is

2474609
frofafaa & & $H-w1 gW 71ad §
Joseph Lancaster —contract plan
A
SR PR - ey o
Benjamin Franklin-academy
B
James B Conant -high school
C
I §t P -3 W
Horace Mann -elementary education
D

TR AF - URMS Rien
Correct Ans : A

Subject : Child Developement

Q.No: 126 Students with which disability have difficulties that occur across all areas like “learning, communication, social, academic,
2475445 yocational and independent living skills?”

Fafafaa 7 3 f5a eaima & oru faendf &1 - dem, TaR $39, IAe, Peie, IR IR W SigT HIa” o a4t &5 & W
BIt 87

Mental retardation

A
ARy faseiar
Giftedness

B
gl
Specific learning disability

C
fafe af Roffrd
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ADHD

ADHD

Correct Ans : A

Subject : Child Developement

Q.No: 127 Freudian psycho analysis is the most prominent

2476172
IS B T faZeror Rigid Faited TR v Bl
trade theory
A
R RAgid
social behavior theory
B
AT SHagR Rigid
motivational theory
C
e Rigid
reinforcement theory
D

SRR R
Correct Ans : C

Subject : Child Developement

Q.No: 128 Analyze the statements and chose the correct options
2476270

Statement (i): One of the main social problems of the 40 weeks old infants is to solve conflict between attachment and
detachment.

Statement (ii): With mother present, infants will readily leave her to explore an interesting environment

FAT P fa=ATor ¥ SR Tl fawed g
B (i): 40 TwE F RS B qo7 g grnel # § T @ 3R ST & §19 F IUY B g H1 3
FY (ii): T P IURUT T R M ¥ U [GTaRy arararr &1 Ul - & forg o & g% g1 S

Both the statements are true

A

A P I ¥

Both statements are false
B

T B ST €

Statement (i) is true and (ii) is false
C

T (i) T § 3R (ii) SA

Statement (ii) is true and (i) is false
D

YT (ii) I § 3R (i) 3HA B
Correct Ans : A
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Subject : Child Developement

Q.No: 129 A time bound testing programme for a students should be implemented so that—

2476701

el & fou a9g-99g R 1ien Srded A fear S

The progress of the students should be informed to their parents
A

ATH-FUcT ST BET B Wit & IR H i i s =fee

A regular practice can be carried out
B

fraftr g § enary far o e §

The students can be trained for final examinations
C

i wdten % forg ST Y W AT o W §

The remedial programme can be adopted on the basis of the feedback from the results
D

gfvoral & ufafeear & SnyR wR ey Sredea S summar S Soar g

Correct Ans : D

Subject : Child Developement

Q.No: 130 Which of the following activities will need the most physical readiness in a child?

2476875
frafiea @ @ fw Tfafafy & fow ve o= & qad Siftre IR derar 31 srazadsdr grfi?
Reading

A
T B H
Talking

B
o1 B H
Dancing

C
TIHFAH
Sleeping

D
LIgk:)

Correct Ans : C

Subject : Child Developement

Q.No: 131 When a learner is allowed to do painting after he has finished his work, it becomes an example of:
2476938

e T el @ oo T TEd HRA F 918 U A B SAfa & S 8, < 98 e SRRV & Sl § B
Negative reinforcement
A
THRIAD eI (T YwRiHe)
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B FOsITIvVe reinrorcement

YHRIETS Geeldrul (Uivied YprRiHT)
Operant conditioning

C
e srggeer (sffke FSHm)
Punishment

D

el
Correct Ans : B

Subject : Child Developement

Q.No: 132 Concept changes from:

2477566
ayRon & uRad H g1 32
Specific to general
A
faftre @ g
Complex to simple
B
Sifed ¥ Wa
Defined to undefined
C
TR & sufeia
Complex to unspecific
D

Sifew § sifafkrg

Correct Ans : A

Subject : Child Developement

Q.No: 133 Consider the following statements -
2477673
1.A child who comes from a well-educated and honest family will never be engaged in delinquent activities.

2.A child, who comes from a family where multiple family-members are engaged in crimes like robbery etc. will not necessarily
be involved in delinquent activities.

Which of the above statements is incorrect?

FAAfaRed Sl W fdaR Sifee-

1. T& Rifa@ SR SAMER URaR F o aran s= S ot srorifires nifafafedl @ <nffer =t g

2. T 51, o U URER 9 Sdl 8 Sfel URAR & s 9awd Shal 3ifa S SR il § fad €, SRt 781 o ag nfafqefoat # =nfir &1
I § q B I HYF Tad 82

Only 1

Fad 1
B Only 2
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Pad 2

Both 1 and 2
C
1 3R 2
Neither 1 nor 2
D

a1 R 2

Correct Ans : A

Subject : Child Developement

Q.No: 134 Children develop a set of relationships in school with teachers and among classmates. Which of the following does not influence
2478947 this relationship?

¥ T H et IR Fguifedl & o9 dedi @1 1o de foha Fxd 31 Fofiaied # § $1 39 9y 31 qHifed et avar 32

The division of classes in school

A
@ § wersit &1 faurer
Teacher’s attitude
B
e &1 331
Extra-curricular activities
C
e Tfafafiat
Division of lectures into period
D

3Gy & TR o1 fqueE

Correct Ans : D

Subject : Child Developement

Q.No: 135 which of the following kind of socialization takes place when individuals adapt to new roles

2473000 such as that of husband/svife/employee etc., according to their needs and wants?
EFaAffad # 3 T YHR ST FATSIROT ad gial & ST catdd A9 3Taeashansi 3T
AGdll & HLHR A5 SHBFHT o If/TcaAVHHART TG B 3T ATl 67
Adolescence Socialisation
A
CRINER R C R
Growing up Socialisation
B
Tgd FHTSIBRUT
Adult Socialisation
C
D FHTSITBRUT
D Gender Socialisation
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feiTT mmiieRor
Correct Ans : C

Subject : Child Developement

Q.No: 136 Which of the following is NOT a feature of socialisation?

2479040
fafafed & § $19 O gaeheor 3t fodvar 7a 82
Instil basic discipline
A
gl SR R
Unanimity among agents of socialization aids in its process
B
FHSHRON & Tolel & S Tehwd SUa! Ufsbal § Feel Hal &
Controls Behaviour
C
SR P
Make children employable
D

T B AR TG G

Correct Ans : D

Subject : Child Developement

Q.No: 137 Who among the following introduced the concept of Anticipatory Socialisation?

2479053

Fafafad & & fea Ui JurSlaur &) S[aeRuN URgd $1?

Anthony Giddens
A

el P

Peter Worsley
B

iR ari

Robert K. Merton
C

fac &. 7

Erving Goffman
D

RIS MEAT

Correct Ans : C

Subject : Child Developement

Q.No: 138 Which of the following is not one of the sub stages given by Piaget in the Sensorimotor stage?
2479167

9 & & o IR =Ru F fUgme grR1 QT 1Y 30 =R H J U 76l 62
A Stage of Reflex activity
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yftad afesaar o1 =R

Coordination of reaction

B

wfafsear 1 gHay

Early Representational thought
C

IR fafAfy far

Pre conceptual stage
D

T4 quIe R0

Correct Ans : D

Subject : Child Developement

Q.No: 139 Which of the following is not a correct feature of Progressive education?

2479526

frafafea & § $19 yfoia fRien #t o) fadwar =8 82

Exclusive reliance on syllabus and textbooks
A

Ty 3R Teg®! W ARy ke

Education for society and democracy.
B

TS iR dipdd & forg fRuam

Integrated curriculum focused on thematic units.
C

v seTsdl W Hfad @isd UedsH|

Emphasis on lifelong learning and social skills.
D

3relie e 3R e HIYd R WR|

Correct Ans : A

Subject : Child Developement

Q.No: 140 Which of the following is NOT one of the common components of intelligence?

2479658
e ¥ § 91 3fs & 9= 9eal § ¥ 1@ 17 32
Ability to adjust with the environment
A
TR & WY TR B B &
Ability to learn
B
de 3 e
Ability to carry out abstract reasoning
C
S T XA B &
D Ability to carry out vocational tasks
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GRS BT D) P B &

Correct Ans : D

Subject : Child Developement

Q.No: 141 perceives a person as an active and curious individual, who is involved actively in solving any problem.
2480009

TP A $T TP Tlpa iR RNy e & w9 & 0rar €, S o off T &1 3a oa # 9fpy w9 9 it g 21

Behaviourist Approach

A
FagRarg! eI
Humanistic Approach
B
HHEdErE) e
Cognitive Approach
(o
WS =R
Socio-cultural Approach
D

YIIRR-HiRpia® =B
Correct Ans : C

Subject : Child Developement

Q.No: 142 Rajan, a second class student, has performed well in classical dance because he has

2480167
Tl Aot & B IoH A AR T F SaT YeR fbar g, Fiife I9® U 3-
Musical intelligence
A
it gfe
Interpersonal intelligence
B
TRERD s
Bodily-kinaesthetic intelligence
C
TSR g
All of the given options
D

o o it fiwe

Correct Ans : D

Subject : Child Developement

Q.No: 143 Rakesh gives all the correct answers in the class verbally but fails to score in exam. Which of the following could be the possible
2480188 55007
TP HaT H 1S w4 i SR TG 1 7, Al ulan A 8ih Ui A | v el 31 Fufifed # § oH-w1 9vifad SR §) Wl 82
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A He may not be able to deal with sudden pressure

I8 AN gad Q Fue § wam 7 & urar @

He is not well-prepared in the examination.

B

a8 T 7 3t TRE § JAR T Sar §

He faces problem in writing.
C

7% forgs § WIF 31 99 eell ©1

He may not be able to deal with sudden pressure and faces problem in writing.
D

9% 3EIFS ald ¥ Fue § 9ad = 8 urar @ iR Rorg § Wl &1 FHMT B 21

Correct Ans : D

Subject : Child Developement

Q.No: 144 The study conducted by Galton based on the influence of heredity concluded that
2480300

STTIRISA & UHTT IR TR Tiee gRT BT MY sreme A sy Fasren fa-

Intelligence is inherited from one generation to another generation.

A
I T et o Wi i =it B w1
Eminence is inherited from one generation to another generation.
B
Hge g UG & e it Y T Sl &
Heredity is the limit setter for development.
C
e e Ft i Fufe 81
Heredity distinguishes between biological as well as social inheritance.
D

IR Sifde SR WY € TS JRmfa & o SfaR Bl 31

Correct Ans : B

Subject : Child Developement

Q.No: 145 Who among the following defined creativity as the ability of an individual with which he creates something new and presents
2480385 | gye?

e & ¥ f5as [T erddl B e Aiad B Wl & w0 H URYIRG fhar e 91y 98 $© 741 Sl § 3R T Ugd el 7

Skinner

A
PR
Drevdahl

B
LSRR

C Karwoski
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PRARDI
Eysenck

oD

Correct Ans : B

Subject : Child Developement

Q.No: 146 Understanding a thing even if we cannot see them is called

2480420
et avg 1 3T T U R ot I FEgH HEam gl
Cognition
A
T
Perception
B
RO
Object permanence
(o
T WA
Imagination
D

Dl
Correct Ans : C

Subject : Child Developement

Q.No: 147 Regarding the errors make by an students during learning process, which of the following is best as per your view point?
2480611

T 1 ufhar A el gr1 B T FRed S g A, et =R A, FE § ¥ BI9-91 Sy gdikA 72

Students should never make mistakes

A
foremdf 1 it ot 3ot et et =R
Mistakes are the part of learning process
B
Agfear iftRT withar &1 Wi §
Mistakes happen due to carelessness of the students
C
foremelf 3t wTURaTEt & B gt B §
Students can make mistakes occasionally
D

Flt-dt famef gfeal = v @
Correct Ans : B

Subject : Child Developement
Q.No: 148 Why play is considered a key element in the process of socialization of children?
2480681
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& & IS BT Ufrar § T S Ua THE dd 1 AT 91 87

For creativity

A
TG faer & g
For communication
B
TR fawm ¥ forg
For exposure
C
3Ry g & frg
For building self-confidence
D

-y e ¥ fAuin & R
Correct Ans : A

Subject : Child Developement

Q.No: 149 Which of the following thinkers has given the principle of 'I' and 'me'?

2480845
Faferad # 9 fow [are 38 8k g3 &1 Rigia Rar g »
Mead
A
His
Durkheim
B
o
Lamarck
C
RLich
Coole
D
T

Correct Ans : A

Subject : Child Developement

Q.No: 150 Technique that a child acquires for processing information supplied by his senses is known as

2480904
g AP o U el S0+ 33T GRT SMYfef $1 TS THSHRY B Uit e & U ured vl §
Motivation
A
R
Learning
B
IR
(o} Intelligence
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T

Personality

fga

Correct Ans : C

Subject : Child Developement
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